Atomic Energy Central School No. 4, Rawatbhata
Multiple Choice Question Examination (November)

Name of the student : Date : 29.11.2019
Class-IV Sec. Roll No.

Instructions : 1. Fill & darken roll number field correctly on OMR Sheet. In case of any error, OMR Answer
Sheet will be not be read by the OMR Scanner.
2. Darken the most suitable option no. on OMR Answer Sheet.
3. There is no negative marking.

Q1. Who is the poet of the poem 'Hiawatha'?

(a) H. W. Longfellow (b) Ruskin Bond (c) P. A. Ropes (d) Oliver
Q2. Synonym for the word 'beast’ is-

(a) Plants (b) Animals (c) Flowers (d) Garden
Q3. Where do beavers live?

(@) Nests (b) Burrows (c) Holes (d) Lodges

Q4. Fill in the blank with the correct word-
I have to leave at .
(a) Two (b) Too (c) To (d) Toe

Q5. Who came to Akber's court?
(a) A clever magician. (b) A beautiful lady.
(c) A powerful man. (d) A learned pundit.

Q6. Underline the describing word in the given sentence.
A learned Pundit visited the Akber's court.

(a) Pundit (b) Learned (c) Court (d) Visited
Q7. What is the plural form of language?

(a) Languagees (b) Languagis (c) Languages (d) Languagess
Q8. Mother tongue is a language which is spoken at

(a) School. (b) Home. (c) College. (d) Office.
Q9. Which among the following is our national language?

(a) English (b) Urdu (c) Bengali (d) Hindi
Q10. As king is related to courtiers, teacher is related to students in the same way advocate is related to

whom?

(a) Clients (b) Passengers (c) Patients (d) Children
Q11. Which of the following is incorrect ?

(a) A rug (b) A honest man (c) A blanket (d) A pillow
Q12. To imitate someone means to

(a) To irritate someone. (b) To visit some one.

(c) To copy someone. (d) To tease someone.
Q13. Tick the word that ends with id sound.

(a) Banged (b) Chased (c) Created (d) Planned
Q14. Fill in the blank with the correct word.

Students remember my words , you are.

(a) Whoever (b) Whenever (c) Wherever (d) Whatever
Q15. Hiawatha was a-

(a) Young Indian boy. (b) Young West Indies boy.

(c) Young Red Indian boy. (d) Young African boy.
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one-fourths make a whole.
a. 4 b. 2 c.10

Rashmi cut an apple into 3 equal parts and ate 2 of them. The fraction of the part she ate is

d.

3

a. 3/5 b. 1/3 c. 2/3 d. 3/2
Cost of Y4 kg of lemons is Rs.20. The cost of 2 Kg. lemons is Rs.

a. 100 b. 160 c. 80 d. 40
34 of 80 mangoes is mangoes.

a. 25 b. 20 c. 60 d. 40
There are grams in a Y4 Kg.

a. 50 b. 250 c. 750 d. 500
Vo+ Va =

a. whole b. 1/3 c. half d. 3%
Va + =3

a. a b. 3% c. d. 4/3
Out of 24 flowers if 34 are shaded. number of flowers are not shaded.

a. 6 b. 18 c. 12 d. 15

+ 2 meter = 1 meter

a. 300 cm b. 75 cm c. 50 cm d. 25 cm
Seventy five paise are part of a rupee.

a. half b. one-quarter c. three quarters d. four quarters
A In the given figure part is shaded.

a. 1/3 b. 1/5 c. 2 d. Va
There are quarters in a whole.

a. 4 b. 2 c.3 d. 8
Cost of half pumpkin is Rs. 70. The full pumpkin will cost

a. 180 b. 200 c. 140 d. 100
Va +Va+Va =

a. 3 b. 2 c. 2/4 d. Va
Three fourth of 4 kg sugar is

a. 500 grams b. 3 kg c. 2 kg d. 750 grams.



46.

47.

48.

49.

50.

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

Koel lays its eggs in a nest.

(a) Barbet (b) Indian Robin (c) Weaver bird (d) Crow
Which bird stitch together two leaves on a bush to make their nest?

(a) Sunbird (b) Crow (c) Tailor bird (d) Barbet
Who are the enemies of bird?

(a) Humans (b) Rat (c) Cat (d) All of this

A crown on the head and coins on the talil,
So many shades of blue from top to tail.
Guess what this birds is -

(a) Ostrich (b) Pigeon (c) Peacock (d) Sparrow
Which is the use of feet of birds?
(a) To swim in water (b) Walk on the land (c) To climb the tree (d) All of these

Find out which statement is correct.
(a) Snakes have sharp straight teeth.
(b) Cows have long front teeth for snipping grass.
(c) Cats have short front teeth for tearing and cutting meat.
(d) Squirrel's front teeth keep growing throughout their life.

Find out which statement is right for Crow's nest.
(a) Crow make their nest in between the stones.
(b) Crow make their nest high up on a tree.
(c) Crow's nest hang from branches on a tree.
(d) Crow make their nest in old deserted building.

Nandita's Mami worked in houses.
(a8 (b) 12 ()7 (d)6
In summer Nandita have to walk for almost hour to the to get water.
(a) One , pond (b) Two, river (c) Three, public tap (d) One, river
Nandita's Mama received the notice ___ times in the last 10 years.
(a) 4 (b) 5 (c)3 (d) 2
In Mumbai, Nandita and her Mami wake up a.m. to fill water from public tab.
(@) 3 (b) 4 (€)5 (d) 6
Why does Mama has to change his house?

(a) Because Sarpanch is coming to destroy his house.
(b) A big hotel going to build their.

(c) Mama wants to sell his house.

(d) They all want to move into a new place.

Why did Nandita close the tab in Babloo’s house?
(a) Because she wants to play in water.
(b) Because Nandita have a fear with water.
(c) Nandita know the value of water and the water was wasting.
(d) None of these.

What is Slum?
(a) Slum is an area in which rich people live.
(b) Slum in an area in big cities where large number of poor people lives in small huts.
(c) Slum is a village in which poor people and rich people live together.
(d) Slum is an area where nobody lives.

Which birds use spider cobwebs to make their nest?
(a) Barbet (b) Koel (c) Sunbird (d) Crow



